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1. An educational institution wishes to maintain a database of its employees. The
database is divided into a number of classes whose hierarchical relationships are
shown in Fig.1. The figure also shows the minimum information required for each
class. Specify all the classes and define methods to create the database and
retrieve individual information as and when required.
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Sample Answer:

/* This class represents all the staff */
class staff
{

String code;

String nane;

/* Input paraneters for the constructor are:
String c: staff code.
String n: staff nane.

*/



public staff(String c, String n)
{
code
nane

c;
n;

}

/* set/get methods for the staff code. */
public void setCode(String c)
{

code = c;

}
public String get Code()
{

}

/* set/get nmethods for the staff nane. */
public void set Nane(String n)

{

return code;

name = n;

}
public String getName()
{

}

return name;

/* This class represents all the teacher staff */
cl ass teacher extends staff

private String subject;
private String publication;
String code;

/* Input paraneters for the constructor are:
String c: staff code.
String n: staff nane.

*/

public teacher(String c, String n)

{

super(c, n);

/* Input paraneters for the constructor are:

String c: staff code.

String n: staff nane.

String sub: teacher subject.

String pub: array of teacher publication
*/
public teacher(String ¢, String n, String sub, String pub)
{

super(c, n);

subj ect = sub;

publication = pub;



}
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{
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public void setCode(String s)
{

}

/* set/get methods for subject */
public void set Subject(String s)
{

super . set Code(s) ;

subj ect = s;

}
public String[] getSubject()
{

}

/* set/get methods for publications */
public void setPublication(String p)
{

return subject;

publication = p;

public String getPublication()

{
return publication;
}
s class represents all typist staff */

typi st extends staff
i nt speed;

/* Input parameters for the constructor are
String c: staff code.
String n: staff nane.
i nt s: typist speed.
*/
public typist(String ¢, String n, int s)
{
super(c, n);
speed = s;

}

/* set/get methods for the typist speed. */
public void set Speed(int s)

{
speed = s;
}
public int getSpeed()
{
return speed
}

s class represents all the officer staff */
of ficer extends staff



}
[* Thi
cl ass
{
}
[* Thi
cl ass
{

i nt grade;

/* Constructor input paraneters are:
String c: staff code.
String n: staff nane.
i nt g: officer's grade.
*/
public officer(String c, String n, int g)
{
super(c, n);
grade = g;
}

/* set and get nethods for the officers' grade */
public void setGade(int @)

{
grade = g;
}
public int getG ade()
{
return grade;
}
s class represents all the regular typist staff */

regul ar extends typi st

/* Input paranmeters for the constructor are
String c: staff code.
String n: staff name.
i nt s: typist speed.

*/

public regular(String ¢, String n, int s)

{

}

super(c, n, s);

s class represents all casual typists */
casual extends typist

float daily_wages;

/* Input paraneters for the constructor are
of a casual typist:
String c: staff code.
String n: staff nane.
i nt s: typist speed.
float w casual's daily wages.
*/
public casual (String ¢, String n, int s, float w)
{
super(c, n, s);
daily_wages = w,

}

/* This method set the daily wages for a casual staff

*/



public void set\Wages(fl oat w)
{

}

/* This method returns the amount of the daily wages */
public float getWages()

{
}

dai ly_wages = w,

return daily_wages;

2. The annual examination results of 100 students are tabulated as follows:

Roll No. Subject 1 Subject 2 Subject 3

Write a program to read the data and determine the following:

a) Total marks obtained by each student.

b) The highest marks in each subject and the Roll No. of the student who
secured it.

c) The student who obtained the highest total marks.

Sample Answer:

cl ass Student

{

String roll No;
float mark[] = new float[3];

St udent () {}

Student (String num float ml, float nR, float nB)
{

rolINo = num
mar k[ 0] = n;
mar k[ 1] = ne;
mar k[ 2] = nB;

}
public void setRollNo(String num

rolI No = new String(num;

}
public void setMark(int i, float m

{
mark[i] = m

float total ()
{



return (mark[0] + mark[1l] + mark[2]);

}
}
cl ass Report
{

final static int no_stud 4,
final static int no_subj = 3;
static Student studs[] = new Student[100];

public static void main (String args[])

{
St udent hi ghMark[] = new Student[ 3];
St udent hi ghest Total =nul |, st ud;
for (int i=0; i<no_stud; i++){
stud = new Student();
Systemout. print("Enter student ["+(i+1)+"] Roll
Numer: ");
st ud. set Rol | No( Keyboard. readString());
Systemout.println("");
for (int j=0; j<no_subj; j++){
Systemout. print("Enter student ["+(i+1)+"]
mark for subject["+(j+1)+"]: ");
stud. set Mark(j, Keyboard.readFloat());
Systemout.println("");
studs[i] = stud;
if (i == 0){
for (int j=0; j<no_subj; j++)
hi ghMark[j] = stud;
hi ghest Tot al = st ud;
} else {
for (int k=0; k<no_subj; k++){
i f (highMark[Kk].mark[k] <
studs[i]. mark[k])
hi ghMark[ k] = studs[i];
}
if (highestTotal.total () < studs[i].total())
hi ghest Total = studs[i];
}
for (int i=0; i<no_stud; i++)
Systemout.printin("Roll No.: "+ studs[i].rollNo +"
total marks: "+ studs[i].total());
for (int i=0; i<no_subj; i++)
System out. println("The higest mark for
Subj ect"+(i +1)+":\tRol |l No.:
"+hi ghMark[i].rol I No+"\t Mark:
"+highMark[i].mark[i]);
System out. println("The highest Total\t:\t Roll No.:
"+hi ghest Total . rol | No+"\t Tot | a:
"+hi ghest Total .total ());
}



